
PRPAN55 REV AREV DATE:SHEET 1 OF 1

BOB'S SPACE RACERS

ASSEMBLY

PAN TARGET TRIPLE 16" DIA ASSEMBLY - WITH NEON

5-29-18DATE: 8-29-18

ITEM PART # DESCRIPTION U/M QTY.

1 ARWB1025 BRKT TARGET MTG EA 3

2 ARWB2002 SENSOR MAGNET SPST-N/O 12" LEADS EA 3

3 ARWB2003 SENSOR MAGNETIC MAGNET FOR ARWB2002 EA 3

4 ARWB3017 TARGET WATER DISC EA 3

5 ARWB5006 SPACER ROUND #8 X 1/4" X 3/4" SS 18-8 EA 3

6 ARWB5008 SCREW MACH 8-32 X 1 1/4 TH PHIL SS EA 3

7
E0050302-RED-

900MM
LED RED NEON ROPE LIGHT 900MM W/SEALED ENDS & PIGTAILS EA 1

8 E0050505 LED STRIP WHITE 150LED 5050 WATERPROOF FT 1

9 E0801028 LED POTTED RING - STINKY FEET EA 3

11 H0004836 SCREW MACH 6-32 X 3/4 OVHD PHIL ST/ST EA 6

12 H0011399 NUT HEX 6/32 SS NYLOCK EA 6

14 PRPAN05 TARGET PAN LED BORDER EA 1

15 PRPAN09 COVER LED WATER PAN TRIPLE TARGET WITH NEON EA 1

16 PRPAN19 TARGET SWING TRIPLE PAN EA 3

ITEM PART # DESCRIPTION U/M QTY.

10 H0002501 SCREW WOOD SCRLX 8 X 3/4"PH ST/ST EA 6

13 H0800109 NUT NYLON LOCK 8-32 SS EA 3

ITEM PART # DESCRIPTION U/M QTY.

10 H0002501 SCREW WOOD SCRLX 8 X 3/4"PH ST/ST EA 6

13 H0800109 NUT NYLON LOCK 8-32 SS EA 3

 16" 

3X

1

7

13

2

15

3X

3X

4

10

6

3X

3X

9

3X

16

8 6X

3

3X

14

3X

6X

11

5

3X

12

6X

 5 1/16" 


